BK S:t Erik

Hostsilver 2015-08-22

Partavling, 6 bord, 12 par. Antal brickor: 33. Medel: 165.0.

Plac Par Poang % Namn MID Klubb
1 2 206 62.42  Tore Stormo - Gudrun Strandberg 78250 4143  ArlaBK
2 11 195 59.09 Kenneth Léfstrand - Stina Lofstrand 44356 44355 BK S:tErik
3 7 184 55.76  Yvonne Flodgvist - Peter Tornblom 14805 2265 BK S:tErik
4 3 181 54.85 Ylva Strandberg - Stefan Josefsson 9217 2033 ArlaBK
5 9 172 52.12  Anders d"Aquino - Noomi Hebert 21174 10059 BK S:t Erik - BK ALERT
6 10 167 50.61  Ann-Christine Brask - Jan-Ove Hed 82567 48412 BK S:t Erik - SEB Bridge
7 12 163 49.39  Annette Lindberg - Magnus Arve 12158 40423 Alvik BC - BK S:t Erik
8 1 160 48.48  Par Ol-Mars - Tomoko Hansen 5342 84545  Sundsvallsbridgen - Arla BK
9 4 142 43.03  Peter Flodqyvist - Ake Falkunge 14778 9025 BK S:t Erik
10 8 140 42.42  Allan Nouri Otman Farha - Klara Asplund 47179 46434 BK S:tErik - Arla BK
11 6 136 41.21  Jesper Rundin - Carin Mdller 80778 54503 Sundsvallsbridgen - Arla BK
12 5 134 40.61  Carl Blekemo - Freja Roboz-Ekman 53044 37948 BK S:t Erik
1 + E862 2 « EKKn104 3 « E1094
Nord vKD1076 Ost vE103 Syd vD10
Ingen ¢E4 NS + KD102 ov ¢ 1042
K8 &8 #10863
«DKn4 K107 48762 a5 4 Kn753 4862
vE2 v Kn98 v9 v KKn8654 v6 v EK732
¢+ D8652 ¢ 1093 ¢ Kn8 + 954 ¢ ED9 + K83
*E76 #D1093 #KD10763 #542 #EKKN97 &D5
4953 « D93 4 KD
v 543 vD72 v Kn9854
¢ KKn7 ¢+ E763 ¢ Kn765
&#Kn542 &#EKn9 42
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
9 4 2y N+1 v8 140 90 10| 8 5 64 N= ¢2 1430 90 10| 8 5 3NV+l a9 -630 80 20
11 2 3v N= v8 140 90 10| 9 4 64 S= &K 1430 90 10| 9 4 3NV+1 a9 -630 80 20
7 6 2NS= «Q 120 6.0 40| 3 10 44 N+2 3 680 30 70(11 2 3NV+1 2 -630 8.0 20
3 10 2v N= +3 110 40 60| 7 6 44 N+2 o2 680 30 70| 3 10 3NO+2 &K -660 20 8.0
12 1 240-1 3 50 20 80|11 2 44 N+2 &2 680 30 70 7 6 3NO+2 8 -660 20 8.0
8 5 2¢V= vK 0.0 100(12 1 44 N+2 &4 680 30 70(12 1 3NO+2 ¢4 -660 20 8.0
4 # E98542 5 « KKn7 6 « EKD82
Vast v EK43 Nord v 765 Ost v 107
Alla ¢ 106 NS ¢ EK852 ov + Kn109
&5 *62 #963
43 &« KDKn7 4 ED10 #9864 & Kn4 4763
v 987 vKn10 vDKn2 vK94 v EK3 v Kn9654
¢ Kn82 + D753 ¢ D964 ¢ Knl0 ¢ E87 ¢ D542
#D109743 #K82 K84  #Knl095 #108754 &2
106 4532 #1095
v D652 vE1083 v D82
¢ EK94 ¢73 + K63
&#EKn6 &#ED73 &EKDKn
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 11 4v N+1 &K 650 100 00| 9 6 2NN= a4 120 100 00|10 5 44 S+1 ©vA 450 10.0 0.0
1 3 4¢vN= vJ 620 6.0 40| 4 11 INV-2 2 100 80 20| 1 3 3NS+1 vA 430 80 20
9 6 44 N= v] 620 6.0 40|10 5 1l¢ N= LN 70 6.0 40| 4 11 44 S= vA 420 40 6.0
10 5 44 N= vJ] 620 6.0 40| 8 7 24 0-1 7 50 40 60| 9 6 44 S-= vA 420 40 6.0
8 7 4vy N-1 vJ -100 10 90|12 2 2vS-1 aA -100 20 80|12 2 44 S= vA 420 40 6.0
12 2 4v N-1 vl] -100 10 90| 1 3 INV+l1l w7 -120 0.0 100 8 7 3NS= &4 400 0.0 10.0
7 4 E75 8 « Kn82 9 « DKn974
Syd v- Vast v KKn1083 Nord v5
Alla + Kn98654 Ingen + D8 ov ¢ K10954
#K732 D106 &52
4DKn82 4K a7 4109643 « EK862 41053
vKn432 vD97 vED9%4 v75 v D42 vE107
¢ E2 + KD1073 493 + 106 ¢+Kn872 3
#EKn10 #D984 &#EKKN743 #9852 &E #KDKn1087
# 109643 « EKD5 @-
v EK10865 v 62 v KKn9863
¢- ¢ EKKn7542 + ED6
*65 »- #9643
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
2 4 3NV-1 »3 100 100 00| 9 8 64 S= A 920 90 10| 9 8 44DV-2 v¥5 500 10.0 0.0
5 1 44S-2 *A -200 70 30|11 6 64 S= LY 920 90 10|11 6 44 V-3 v5 300 7.0 3.0
9 8 24DS-1 +A -200 70 30| 2 4 5¢ S+1 &A 420 30 70(12 3 44V-3 v4 300 7.0 3.0
11 6 3NV= +8 -600 40 60| 5 1 5¢S+1 #A 420 30 70 5 1 440-1 ¢3 100 40 6.0
10 7 3NV+1l 45 -630 10 9.0|10 7 5¢ S+1 #A 420 30 70| 2 4 5¢DN-2 &K -300 1.0 90
12 3 3NO+1 5 -630 10 9.0|12 3 5¢ S+1 &A 420 30 70(10 7 3vDS-2 &A -300 1.0 090
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10 « EKn54 11 105 12 « D95
Ost v EK6 Syd v32 Vast v K107
Alla ¢ EKn9 Ingen + KD9765 NS ¢ K102
&»EK4 #E109 #8543
« D2 49 & Kn92  EK643 10 & K42
vKn8754 vD1032 vDKnl109 vE85 v8642  vKn93
¢ D7 + K8643 + Kn +108 ¢ DKn53 49876
#D1065 #Kn97 #KD873 #Kn42 #KD107 #E92
4« K108763 « D87 « EKn8763
v9 vK764 v ED5
¢ 1052 ¢ E432 ¢E4
#3832 #65 *Kn6
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 5 64 S= v4 1430 100 00| 1 7 440-1 ¢ A 50 70 30 6 2 44S+1 ¥3 650 9.0 1.0
1 7 44 N+2 & 680 50 50 3 5 440-1 ¢ A 50 70 3.0(10 9 44 S+1 +Q 650 9.0 1.0
10 9 44 N+2 &7 680 50 50|11 8 34 0-1 %6 50 70 3.0(11 8 44 S= aT 620 6.0 4.0
11 8 44 N+2 &7 680 50 50|12 4 44 0-1 ¢ A 50 70 3.0(12 4 24 S+4 &K 230 40 6.0
12 4 44 N+2 &7 680 50 50(10 9 34 0= ¢ A -140 20 80| 1 7 24S+3 ¢Q 200 1.0 90
6 2 INN+5 3 240 00 100| 6 2 340+1 ¥6 -170 00 100 3 5 34S+2 &K 200 1.0 9.0
13 « EKKNn10 14 463 15 « EKD
Nord vKn94 Ost vKn87643 Syd v K985
Alla ¢+ E3 Ingen + Kn10 NS ¢ Kn5
#EDG3 642 #EKn82
483 49764 48542 4 KDKn 4 Kn863 4109752
v D632 v10 v 105 v KD92 vE64 vD72
¢ DKn752 ¢ K1084 + K8543 ¢ E62 ¢ E743 ¢ K6
*82 #K1094 «D10 *K98 *K9 +D106
« D52 4 E1097 a4
v EK875 vE vKn103
496 + D97 + D10982
£Kn75 &EKN753 #7543
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
2 8 4vy N+1 &8 650 90 10|12 5 3NO-3 »3 150 100 00| 2 8 INN= 43 90 10.0 0.0
11 10 4v S+1 48 650 90 10|11 10 3#S-2 vT -100 80 20(12 5 3&#N-1 a2 -100 80 20
4 6 3NN+1 46 630 50 50| 1 9 240= vA -110 40 60 1 9 240= v3 -110 40 6.0
7 3 3NN+1 46 630 50 50| 2 8 3¢V= 46 -110 40 60| 4 6 24V= «Q -110 40 6.0
1 9 6vyS-1 8 -100 20 80| 4 6 2¢ V+1 &2 -110 40 60| 7 3 240= vJ] -110 40 6.0
12 5 6v S-2 a8 -200 00 100 7 3 3vDS-3 +¢2 -500 0.0 100(11 10 3NN-4 a2 -400 0.0 10.0
16 48 17 «E54 18 « E1064
Vast v 943 Nord v Kn642 Ost v 872
ov ¢ KDKn2 Ingen + K6 NS + D87
#E10985 #EKn95 &EG3
4« Kn6 & KD9742 4932 4DKn6 4752 4 K9
v K10765 vDKn vKD5 vE10873 vKn954 vE6
¢ E865 493 ¢ 1053 ¢E92 ¢+Kn32 ¢ EK1095
& KKn «D74 K872 #106 #K95 #DKn42
4 E1053 « K1087 4« DKn83
v E82 v9 vKD103
+ 1074 ¢+ DKn874 ¢ 64
£632 D43 #1087
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 10 3v V-2 ¢+ K 200 80 20| 3 9 2¢vDO-2 +Q 300 100 00| 2 10 24 N= ¢ A 110 10.0 0.0
3 9 44 0-2 &2 200 80 20(12 6 INN+3 ¢5 180 80 20 8 4 INO-1 48 50 80 20
8 4 44 0-2 *6 200 80 20| 8 4 2¢ N+3 4Q 150 6.0 40| 5 7 INO+1 ¢¥K -120 50 5.0
1 11 24 0= »2 -110 40 60| 2 10 34 N= vA 140 30 70(12 6 INO+1 ¥K -120 50 5.0
5 7 24 0+2 42 -170 1.0 90| 5 7 34 N= *2 140 30 70| 1 11 1¢ O+4 vK -150 20 8.0
12 6 24 O+2 &2 -170 10 90| 1 11 INN= v3 90 00 100 3 9 2vS-2 2 -200 0.0 10.0
19 « KKn97632 20 « K62 21 107
Syd vD4 Vast v EKn982 Nord vKn543
oV +D3 Alla ¢ E75 NS ¢ E94
£87 D3 #KKn85
a- 4« D1085 « EKN983 4 D105 4ED85 4K9432
vKn7653 v EK10 v3 vD4 v 62 vD108
¢ K10742 ¢ 986 +Knl08  ¢643 ¢ D1083 ¢ KKn2
#DKn9 #1064 #Kn542  #K10986 D63 *42
«E4 474 « Kn6
v 982 v K10765 v EK97
¢ EKn5 + KD92 ¢ 765
#EK532 &E7 #E1097
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
2 1 44 N-1 vA -50 70 30| 9 5 6YyN= &6 1430 100 00| 3 11 2v N= &4 110 10.0 0.0
3 11 44 N-1 vA -50 70 30| 2 1 4vy N+2 &9 680 50 50| 2 1 340-1 vA 50 80 20
9 5 44 S-1 v2 -50 70 30| 3 11 4y N+2 a5 680 50 50| 6 8 Pass 6.0 4.0
12 7 44 S-1 v3 -50 70 30| 4 10 4y N+2 3 680 50 50| 4 10 3vS-1 v6 -100 30 7.0
4 10 44 S-2 *6 -100 10 90|12 7 4y N+2 46 680 50 5012 7 3vS-1 *6 -100 30 70
6 8 44 N-2 vA -100 10 90| 6 8 4vyN= +3 620 0.0 100 9 5 4vS-2 a A -200 0.0 10.0
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22 « EKD4 23 « E76 24 « D542
Ost v E82 Syd vKn75 Vast v DKn10654
ov *+ K Alla ¢ K1082 Ingen +8
#K7532 #K85 #86
4963 4 Kn1085 442 « D853 K83 4« Kn1076
v 1054 vKn763 v 98 vED102 v K8 vE7
¢ E10432 ¢ 97 ¢ E53 + D974 ¢ EKn964 ¢ D752
D6 #984 #Kn109762 &E *Kn72 #K95
472 « KKn109 «E9
vKD9 v K643 v 932
+ DKn865 ¢ Kné6 ¢ K103
#EKn10 D43 #ED1043
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 1 6NS= v6 990 100 00| 7 9 2NO-3 +*J 300 00 0010 6 3vyDN= ¢2 530 9.0 1.0
7 9 3NS+3 3 490 80 20| 3 2 3&V-2 v5 200 80 20(12 8 3vyDN= ¥vA 530 9.0 1.0
5 11 4NN+1 3 460 40 6.0(12 8 INS+1 &J 120 6.0 40| 5 11 3vy N= aJ 140 50 5.0
10 6 3NS+2 T 460 40 6.0 5 11 INN= ¢7 90 40 60| 7 9 3vN= ] 140 50 5.0
12 8 3NS+2 v4 460 40 60| 4 1 1aS-= v9 80 20 80| 4 1 34DO-1 v2 100 20 8.0
3 2 6&#N-1 aJ -50 00 100|10 6 3a&V= v5 -110 00 100| 3 2 340-1 v2 50 0.0 10.0
25 + EK8652 26 « KD853 27 293
Nord vK6 Ost v92 Syd vD10963
ov 4943 Alla + Kn98 Ingen +D
#107 D83 #E10732
4 Kn4 41093 ~ E64 492 4 Kn652 & E1087
v 87 v Kn109543 v 875 v KDKn1064 vKn54  vE82
¢ 852 +76 ¢EKD32 ¢7 ¢ KKn76 ¢ 10953
#EDKN865 %32 #65 #EK42 D9 »86
« D7 4« Kn107 « KD4
vED2 vE3 vK7
¢+ EKDKn10 ¢ 10654 ¢ E842
£K94 #Kn1097 &#KKn54
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
11 7 6NS+1 ¢8 1020 100 00| 6 1 4vyO0+2 &J -680 80 20| 8 10 3NS+2 &5 460 80 20
12 9 64 N+1 %] 1010 80 2011 7 4vO0+2 #J -680 80 20(11 7 3NS+2 45 460 80 20
4 3 6NS= A 990 6.0 40|12 9 4v O+2 vA -680 80 20|12 9 3NS+2 a5 460 8.0 20
5 2 3NS+4 v8 520 40 60| 4 3 6vy0O= *9 -1430 20 80| 4 3 3vS+2 v4 200 40 6.0
6 1 44 N+3 vJ 510 20 80| 5 2 6v0O= LN -1430 20 80| 6 1 2¢vS+2 a2 170 20 80
8 10 44 N+2 43 480 0.0 100| 8 10 6v O= LN -1430 20 80| 5 2 44 N+1 T 150 0.0 10.0
28 « ED3 29 « EKKNn32 30 « E1095
Vast vD6 Nord vD3 Ost vE742
NS ¢ Kn109 Alla ¢ Kn654 Ingen *72
#EK976 &E6 #DKn10
485 & Kn2 494 4 D876 4Kn842 43
v EKn532 v 1087 vK9874  vEKn52 vKD86 ¥Kn93
¢ ED853 ¢ K76 +9 + K832 ¢+ D105 ¢ E964
*2 #108543 #KKn985 &2 »E6 #K9754
4« K109764 4105 4 KD76
v K94 v 106 v 105
42 ¢ ED107 ¢ KKn83
&DKn £#D10743 #3832
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 4 44 S+1 &2 650 70 30| 1 8 3vVv-l s A 100 100 00| 1 8 3¢ 0O-1 vT 50 9.0 1.0
6 3 54 S= vA 650 70 30| 5 4 3vV= aA -140 70 30|12 10 2v V-1 L JO) 50 9.0 1.0
7 2 44 S+1 &2 650 70 30| 7 2 3vV= oT -140 70 30| 9 11 INO= &K -90 6.0 4.0
12 10 44 S+1 &2 650 70 30| 9 11 44 N-2 *2 -200 30 70 7 2 34N-2 &4 -100 40 6.0
1 8 24S+4 &2 230 1.0 9.0|12 10 3¢ N-2 &2 -200 30 70| 6 3 2vV= v2 -110 20 80
9 11 24 S+4 &2 230 10 90| 6 3 3vDV= aA -730 00 100 5 4 INO+1 +38 -120 0.0 10.0
31 92 32 & 742 33 48
Syd v EK983 Vast v KKn754 Nord vE3
NS + K962 ov ¢ E6 Ingen + K954
K2 #EDKn #EKn10973
& EKDKN76 4854 4 KKn6 & ED1093 96 #1053
v Kn7 v 642 vE1092 D3 vKn964 vK1075
*7 + EKn10543 + KD 410852 + ED87 ¢ Knl06
#E843 &5 #10872 %96 #K52 D84
103 485 « EKDKNn742
vD105 v 86 v D82
+D8 ¢ Kn9743 +32
#DKn10976 #K543 &6
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
10 1 4e V-1 vA 50 100 00| 8 3 24 0-1 v8 100 100 00| 2 9 44 S+1 438 450 6.0 4.0
7 4 34V+1l vK -170 80 20| 2 9 3vyN-2 +5 -100 70 30| 7 4 44 S+1 v6 450 6.0 4.0
2 9 4e V= vA -420 30 70 6 5 3¢DS-1 &K -100 70 30| 8 3 44S+1 ¥3 450 6.0 4.0
6 5 4e V= vA -420 30 70(12 11 24 O= v8 -110 40 6.0(10 1 44S+1 v6 450 6.0 4.0
8 3 4e V= vA -420 30 70| 7 4 INV+1L a7 -120 20 8.0(12 11 44 S+1 v6 450 6.0 4.0
12 11 44 V= vA -420 30 70(10 1 240+1 +8 -140 0.0 100 6 5 44 S-= v3 420 0.0 10.0
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